PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#:  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007111362 STAKE: 1
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY Units QTY PART NO DESCRIPTION
0 EA 1 EA 1025000 POLE 50" CEDAR CLASS 3
1 EA 0 EA 1028100 POLE 80" FIBERGLASS
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
336 FT 0 FT 2050700 XXX GUYWIRE 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 0 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 0 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 0 EA 2485500 XXX ANCHORROD 7° X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 0 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
8 EA 0 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE

Page 1 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.0. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007111361 STAKE: 2
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY  Units QTY PART NO DESCRIPTION
0 EA 1 EA 1025000 POLE 50° CEDAR CLASS 3
1 EA 0 EA 1028100 POLE 80" FIBERGLASS
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25°)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 EA 4 EA 1040800 CROSSARM 8" X 3-3/4" X 4-3/4"
0 EA 1 EA 1072200 CROSSARM 22°X 5-3/4" X 7-3/4"
1 EA 0 EA 1095008 XARM 8' HD 4H DEADEND FIBERGLS
0 EA 8 EA 1302800 XXX BRACE 28" FLAT
0 EA 8 EA 1702000 XXX XARM REINFORCING PLATE 8"
0 FT 42 FT 2050500 XXX GUYWIRE 10M
336 FT 0 FT 2050700 XXX GUYWIRE 18M
0 EA 4 EA 2100500 XXX GUY GRIP 10M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
8 EA 1 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 1 EA 2420100 XXX TRIPLEYE NUT 1"
0 EA 1 EA 2482500 (NOT USED) ROD 7" X 3/4"
8 EA 0 EA 2485500 XXX ANCHOR ROD 7 X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 1 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
0 EA 1 EA 2701000 XXX GUY HOOK
8 EA 1 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE
0 EA 3 EA 3020800 XXX MACHINE BOLT 1/2" X 8" HDG
0 EA 1 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
2 EA 0 EA 3031400 XXX MACHINE BOLT 5/8" X 14 HDG
0 EA 2 EA 3032000 XXX MACHINE BOLT 5/8" X 20 HDG
0 EA 4 EA 3041400 XXX MACHINE BOLT 3/4" X 14 HDG

Page 2 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
0 EA 2 EA 3042200 XXX MACHINE BOLT 3/4" X 22 HDG
0 EA 4 EA 3082000 XXX BOLT DA 20" X 5/8" HDG
0 EA 8 EA 3200500 XXX CARRIAGE BOLT 5" X 3/8"
0 EA 5 EA 3201500 XXX LAG SCREW 4" X 1/2"
0 EA 2 EA 3231000 XXX EYENUT 5/8"
3 EA 0 EA 3232000 XXX EYENUT 3/4"
0 EA 6 EA 3280800 XXX ROUND WASHER 1/2"
0 EA 21 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
0 EA 2 EA 3294000 XXX SQ FLAT WASHER 3" X 13/16"
6 EA 0 EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"
2 EA 1 EA 3303900 XXX SQ CURV WASHER 3" X 13/16"
8 EA 3 EA 3306000 XXX SQ CURV WASHER 4" X 13/16"
0 EA 6 EA 3330700 XXX DBL COIL 3/8" LOCK WASHER
0 EA 3 EA 3330800 XXX DBL COIL 1/2" LOCK WASHER
4 EA 18 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER
13 EA 5 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER
1 EA 0 EA 3420800 XXX GROUND ROD 8 X 5/8" CU
3 EA 3 EA 3990100 XXX D EYE
4 EA 6 EA 4011500 PINTYPE INSULATOR 15KV
0 EA 2 EA 4020600 SUSPENSION INSULATOR 6"
0 EA 15 EA 4021000 SUSPENSION INSULATOR 10" 20K
7 EA 0 EA 4021500 SUSPENSION INSULATOR 15KV POLY
0 EA 1 EA 4025000 XXX POLY SPOOL INSULATOR 52-3
0 EA 1 EA 4025200 XXX SPOOL INSULATOR CLEVIS
6 EA 0 EA 4070000 SUSPENSION 115KV POLY INSUL
4 EA 6 EA 4500100 XXX CROSSARM PIN
0 EA 3 EA 4953500 XXX BALL HOOK
48 FT 8 FT 5030300 XXX 6 CU TIE WIRE SOLID
14 FT 0 FT 5080700 XXX 2 CU SD 7-STRAND
44 FT 0 FT 5450700 2 ACSR 6/1

Page 3 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles

1 EA 0 EA 6060500 XXX CRIMPIT 2-4

4 EA 0 EA 6300700 XXX AMP 556-394 & 556-397

1 E 0 E 6308120 XXX AMP 397 & 556.5AAC -4 & 2

1 EA 0 EA 6308120 XXX AMP 397 & 556.5AAC -4 & 2

0 EA 2 EA 6430700 USE STOCK #65307

5 EA 0 EA 6530700 DEADEND 4 - 1/0 ACSR

4 EA 0 EA 6531300 DEADEND 556-795 BOLTED

1 E 0 E 6588500 XXX HOT LINE CLAMP

1 EA 1 EA 6588500 XXX HOT LINE CLAMP

1 EA 1 EA 6588700 XXX 4-4/0 STIRRUP CLAMP

1 EA 0 EA 6589000 XXX 556.5 AAC STIRRUP CLAMP

1 EA 0 EA 6663900 XXX GROUND ROD CLAMP 5/8 BRNZ

35 EA 0 EA 6664000 XXX GROUND WIRE CLIP

35 EA 0 EA 6664100 XXX SS #10 X 1-1/4 SD SELF DRL

1 EA 0 EA 7252200 CUTOUT 100A 15KV

1 EA 0 EA 7252325 XXX CUTOUT BRKT FIBERGLASS DE

1 EA 0 EA 7306600 XXX FUSE 20K UNIVERSAL

Page 4 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007108401 STAKE: 3
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
0 EA 1 EA 1025000 POLE 50" CEDAR CLASS 3
0 EA 1 EA 1030900 XXX POLE CAP 9" PVC
0 EA 1 EA 1041000 CROSSARM 107X 3-3/4" X 4-3/4"
0 EA 1 EA 1306000 BRACE 60" DROP ANGLE
0 EA 2 EA 3020600 XXX MACHINE BOLT 1/2" X 6" HDG
0 EA 2 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
0 EA 1 EA 3041600 XXX MACHINE BOLT 3/4" X 16 HDG
0 EA 2 EA 3280800 XXX ROUND WASHER 1/2"
0 EA 2 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
0 EA 2 EA 3294000 XXX SQ FLAT WASHER 3" X 13/16"
0 EA 1 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER
0 EA 1 EA 3420800 XXX GROUND ROD 8" X 5/8" CU
0 EA 3 EA 4011500 PINTYPE INSULATOR 15KV
0 EA 1 EA 4025000 XXX POLY SPOOL INSULATOR 52-3
0 EA 1 EA 4025200 XXX SPOOL INSULATOR CLEVIS
0 EA 3 EA 4500100 XXX CROSSARM PIN
0 FT 50 FT 5030300 XXX 6 CU TIE WIRE SOLID
0 EA 3 EA 6480700 XXX ALLOY TIE 2 ACSR F-NECK
0 EA 1 EA 6663900 XXX GROUND ROD CLAMP 5/8 BRNZ

Page 5 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007108462 STAKE: 4
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
336 FT 0 FT 2050700 XXX GUYWIRE 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 0 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 0 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 0 EA 2485500 XXX ANCHOR ROD 7" X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 0 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
8 EA 0 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE

Page 6 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.0. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007108463 STAKE: 5
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY  Units QTY PART NO DESCRIPTION
1 EA 0 EA 11400 15KVA 120/240 1B 15KV OH
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
1 EA 0 EA 1095510 XARM 10°XHD 4H DEADEND FIBERGL
336 FT 0 FT 2050700 XXX GUYWIRE 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 0 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 0 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 0 EA 2485500 XXX ANCHOR ROD 7" X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 0 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
8 EA 0 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE
4 EA 0 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
2 EA 0 EA 3031400 XXX MACHINE BOLT 5/8" X 14 HDG
3 EA 0 EA 3232000 XXX EYENUT 3/4"
4 EA 0 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
6 EA 0 EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"
8 EA 0 EA 3306000 XXX SQ CURV WASHER 4" X 13/16"
8 EA 0 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER
13 EA 0 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER
1 EA 0 EA 3420800 XXX GROUND ROD 8" X 5/8" CU
3 EA 0 EA 3990100 XXX D EYE
4 EA 0 EA 4011500 PINTYPE INSULATOR 15KV
6 EA 0 EA 4021500 SUSPENSION INSULATOR 15KV POLY
2 EA 0 EA 4025000 XXX POLY SPOOL INSULATOR 52-3
2 EA 0 EA 4025200 XXX SPOOL INSULATOR CLEVIS
6 EA 0 EA 4070000 SUSPENSION 115KV POLY INSUL

Page 7 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles

4 EA 0 EA 4500100 XXX CROSSARM PIN

9 FT 0 FT 5012000 XXX 1/0 CU USE 19-STRAND

48 FT 0 FT 5030300 XXX 6 CU TIE WIRE SOLID

26 FT 0 FT 5080700 XXX 2 CU SD 7-STRAND

2 EA 0 EA 6060300 XXX CRIMPIT 6-6

1 EA 0 EA 6060500 XXX CRIMPIT 2-4

1 E 0 E 6308120 XXX AMP 397 & 556.5AAC -4 & 2

1 EA 0 EA 6308120 XXX AMP 397 & 556.5AAC -4 & 2

1 EA 0 EA 6490000 XXX WEDGE CLAMP 6-2

1 EA 0 EA 6490300 XXX WEDGE CLAMP 1/0-4/0

1 EA 0 EA 6588500 XXX HOT LINE CLAMP

1 EA 0 EA 6589000 XXX 556.5 AAC STIRRUP CLAMP

3 EA 0 EA 6605500 XXX M-LUG SEC PED 6H 6-350

2 EA 0 EA 6605600 XXX SECOND PED CONN COVER

1 EA 0 EA 6663900 XXX GROUND ROD CLAMP 5/8 BRNZ

35 EA 0 EA 6664000 XXX GROUND WIRE CLIP

35 EA 0 EA 6664100 XXX SS #10 X 1-1/4 SD SELF DRL

1 EA 0 EA 7252200 CUTOUT 100A 15KV

1 EA 0 EA 7259000 CUTOUT/ARRESTER EXT BRKT

1 EA 0 EA 7292100 XXX FUSE 2-1/2X FITALL

1 EA 0 EA 9987000 XXX WILDLIFE BUSH PROTECTOR

3 FT 0 FT 9987600 XXX RED HOSE

Page 8 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#:  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007107561 STAKE: 6
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY Units QTY PART NO DESCRIPTION
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
0 EA 1 EA 1027000 POLE 70" CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 FT 42 FT 2050500 XXX GUYWIRE 10M
336 FT 0 FT 2050700 XXX GUYWIRE 18M
0 EA 4 EA 2100500 XXX GUY GRIP 10M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 1 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 1 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 1 EA 2485500 XXX ANCHORROD 7* X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 1 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
0 EA 1 EA 2701000 XXX GUY HOOK
8 EA 1 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE
0 EA 1 EA 3041200 XXX MACHINE BOLT 3/4" X 12 HDG
0 EA 1 EA 3201500 XXX LAG SCREW 4" X 1/2"
0 EA 1 EA 3303900 XXX SQ CURV WASHER 3" X 13/16"
0 EA 1 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER

Page 9 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.0. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007107560 STAKE: 7
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY  Units QTY PART NO DESCRIPTION
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
0 EA 1 EA 1027000 POLE 70" CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25°)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 E 2 E 1040800 CROSSARM 8" X 3-3/4" X 4-3/4"
0 EA 2 EA 1040800 CROSSARM 8" X 3-3/4" X 4-3/4"
0 EA 2 EA 1072200 CROSSARM 22°X 5-3/4" X 7-3/4"
1 EA 0 EA 1095510 XARM 10'XHD 4H DEADEND FIBERGL
1 E 0 E 1095512 XARM 12'XHD 4H DEADEND FIBERGL
0 EA 4 EA 1302800 XXX BRACE 28" FLAT
0 EA 4 EA 1702000 XXX XARM REINFORCING PLATE 8"
0 FT 42 FT 2050500 XXX GUYWIRE 10M
336 FT 0 FT 2050700 XXX GUYWIRE 18M
0 EA 4 EA 2100500 XXX GUY GRIP 10M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 1 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 1 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 1 EA 2485500 XXX ANCHOR ROD 7 X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 1 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
0 EA 1 EA 2701000 XXX GUY HOOK
8 EA 1 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE
0 EA 6 EA 3031000 XXX MACHINE BOLT 5/8" X 10 HDG
0 EA 1 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
4 EA 0 EA 3031400 XXX MACHINE BOLT 5/8" X 14 HDG
0 EA 1 EA 3032000 XXX MACHINE BOLT 5/8" X 20 HDG

Page 10 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
0 EA 1 EA 3041200 XXX MACHINE BOLT 3/4" X 12 HDG
0 EA 2 EA 3042600 XXX MACHINE BOLT 3/4" X 26 HDG
0 EA 2 EA 3082000 XXX BOLT DA 20" X 5/8" HDG
0 EA 6 EA 3092600 XXX BOLT DA 26" X 3/4" HDG
0 EA 4 EA 3200500 XXX CARRIAGE BOLT 5" X 3/8"
0 EA 3 EA 3201500 XXX LAG SCREW 4" X 1/2"
0 E 1 E 3231000 XXX EYENUT 5/8"
0 EA 3 EA 3231000 XXX EYENUT 5/8"
3 EA 6 EA 3232000 XXX EYENUT 3/4"
0 EA 23 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
6 EA 24 EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"
0 EA 1 EA 3303900 XXX SQ CURV WASHER 3" X 13/16"
10 EA 0 EA 3306000 XXX SQ CURV WASHER 4" X 13/16"
0 EA 2 EA 3330700 XXX DBL COIL 3/8" LOCK WASHER
4 EA 19 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER
13 EA 27  EA 3331000 XXX DBL COIL 3/4" LOCK WASHER
1 EA 0 EA 3420800 XXX GROUND ROD 8 X 5/8" CU
3 EA 0 EA 3990100 XXX D EYE
4 EA 6 EA 4011500 PINTYPE INSULATOR 15KV
0 EA 30 EA 4021000 SUSPENSION INSULATOR 10" 20K
9 EA 3 EA 4021500 SUSPENSION INSULATOR 15KV POLY
0 EA 1 EA 4025000 XXX POLY SPOOL INSULATOR 52-3
0 EA 1 EA 4025200 XXX SPOOL INSULATOR CLEVIS
6 EA 0 EA 4070000 SUSPENSION 115KV POLY INSUL
4 EA 6 EA 4500100 XXX CROSSARM PIN
0 EA 6 EA 4953500 XXX BALL HOOK
64 FT 0 FT 5030300 XXX 6 CU TIE WIRE SOLID
14 FT 0 FT 5080700 XXX 2 CU SD 7-STRAND
4 FT 0 FT 5450700 2 ACSR 6/1
1 EA 0 EA 6060500 XXX CRIMPIT 2-4

Page 11 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles

1 E 0 E 6308120 XXX AMP 397 & 556.5AAC -4 & 2

1 EA 0 EA 6308120 XXX AMP 397 & 556.5AAC -4 & 2

4 EA 4 EA 6530700 DEADEND 4 - 1/0 ACSR

3 EA 0 EA 6588500 XXX HOT LINE CLAMP

3 E 0 E 6588500 XXX HOT LINE CLAMP

3 EA 6 EA 6588700 XXX 4-4/0 STIRRUP CLAMP

3 EA 0 EA 6589000 XXX 556.5 AAC STIRRUP CLAMP

1 EA 0 EA 6663900 XXX GROUND ROD CLAMP 5/8 BRNZ

35 EA 0 EA 6664000 XXX GROUND WIRE CLIP

35 EA 0 EA 6664100 XXX SS #10 X 1-1/4 SD SELF DRL

3 EA 0 EA 7252200 CUTOUT 100A 15KV

3 EA 0 EA 7252325 XXX CUTOUT BRKT FIBERGLASS DE

3 EA 0 EA 7306600 XXX FUSE 20K UNIVERSAL

Page 12 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007106661 STAKE: 8
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
0 EA 2 EA 1026500 POLE 65° CEDAR CLASS 3
0 EA 2 EA 1030000 XXX POLE WRAP (20" x 257)
0 EA 2 EA 1032000 XXX OSMOSE POLE TOPPER 19"
336 FT 0 FT 2050700 XXX GUYWIRE 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 0 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 0 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 0 EA 2485500 XXX ANCHOR ROD 7° X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 0 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
8 EA 0 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE

Page 13 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007106660 STAKE: 9
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
1 EA 0 EA 1026100 POLE 60" FIBERGLASS
0 EA 1 EA 1026500 POLE 65° CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 257)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 EA 4 EA 1051000 (NOT USED) CROSSARM HEAVY 10°
0 EA 1 EA 1072200 CROSSARM 22°X 5-3/4" X 7-3/4"
0 EA 4 EA 1306000 BRACE 60" DROP ANGLE
0 EA 8 EA 1702000 XXX XARM REINFORCING PLATE 8"
336 FT 0 FT 2050700 XXX GUYWIRE 18M
16 E 0 E 2101000 XXX GUY GRIP 18M
32 EA 0 EA 2101000 XXX GUY GRIP 18M
8 EA 0 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
8 EA 0 EA 2420100 XXX TRIPLEYE NUT 1"
8 EA 0 EA 2485500 XXX ANCHOR ROD 7° X 1"
8 E 0 E 2550900 GUY STRAIN INSULATOR 54" 21K
8 EA 0 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
8 EA 0 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
8 EA 0 EA 2870400 XXX CLEVIS THIMBLE
0 EA 8 EA 3020700 XXX MACHINE BOLT 1/2" X 7" HDG
0 EA 3 EA 3020800 XXX MACHINE BOLT 1/2" X 8" HDG
0 EA 2 EA 3031600 XXX MACHINE BOLT 5/8" X 16 HDG
0 EA 3 EA 3041400 XXX MACHINE BOLT 3/4" X 14 HDG
0 EA 4 EA 3042200 XXX MACHINE BOLT 3/4" X 22 HDG
0 EA 4 EA 3092200 XXX BOLT DA 22" X 3/4" HDG
3 EA 0 EA 3232000 XXX EYENUT 3/4"
0 EA 14 EA 3280800 XXX ROUND WASHER 1/2"
0 EA 22 EA 3294000 XXX SQ FLAT WASHER 3" X 13/16"
6 EA 0 EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"

Page 14 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles

8 EA 3 EA 3306000 XXX SQ CURV WASHER 4" X 13/16"

0 EA 11 EA 3330800 XXX DBL COIL 1/2" LOCK WASHER

2 EA 10 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER

13 EA 15 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER

1 EA 0 EA 3420800 XXX GROUND ROD 8" X 5/8" CU

3 EA 3 EA 3990100 XXX D EYE

0 EA 2 EA 4010700 (NOT USED) VICTOR GLASS

4 EA 6 EA 4011500 PINTYPE INSULATOR 15KV

0 EA 15 EA 4021000 SUSPENSION INSULATOR 10" 20K

6 EA 0 EA 4021500 SUSPENSION INSULATOR 15KV POLY

6 EA 0 EA 4070000 SUSPENSION 115KV POLY INSUL

4 EA 8 EA 4500100 XXX CROSSARM PIN

0 EA 3 EA 4952500 XXX SOCKET EYE

0 EA 3 EA 4953500 XXX BALL HOOK

40 FT 0 FT 5030300 XXX 6 CU TIE WIRE SOLID

14 FT 4 FT 5080700 XXX 2 CU SD 7-STRAND

0 FT 24 FT 5430500 XXX 4 SOL AL TIE WIRE

0 EA 3 EA 5951000 XXX ARMOR ROD 1/0 ACSR

0 EA 8 EA 5953000 XXX ARMOR ROD 556.5 AAC

1 EA 0 EA 6060500 XXX CRIMPIT 2-4

0 EA 1 EA 6280700 XXX WR159 #2 - #6

4 EA 0 EA 6300700 XXX AMP 556-394 & 556-397

0 EA 1 EA 6300800 USE STOCK #63001

1 E 0 E 6308120 XXX AMP 397 & 556.5AAC -4 & 2

1 EA 0 EA 6308120 XXX AMP 397 & 556.5AAC -4 & 2

3 EA 0 EA 6530700 DEADEND 4 - 1/0 ACSR

4 EA 0 EA 6531300 DEADEND 556-795 BOLTED

0 EA 3 EA 6551000 1/0 ACSR SUSPENSION CLAMP

1 EA 0 EA 6663900 XXX GROUND ROD CLAMP 5/8 BRNZ

35 EA 0 EA 6664000 XXX GROUND WIRE CLIP

Page 15 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461
WORK ORDER PICKING LIST BY LOCATION W.O. #:  12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
35 EA 0 EA 6664100 XXX SS#10 X 1-1/4 SD SELF DRL

Page 16 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007107563 STAKE: 10
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
0 EA 1 EA 1027000 POLE 70° CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25")
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"

Page 17 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007107562 STAKE: 11
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
0 EA 1 EA 1027000 POLE 70" CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 257)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 EA 2 EA 1051000 (NOT USED) CROSSARM HEAVY 10°
0 EA 2 EA 1072200 CROSSARM 22°X 5-3/4" X 7-3/4"
0 EA 2 EA 1306000 BRACE 60" DROP ANGLE
0 EA 4 EA 1702000 XXX XARM REINFORCING PLATE 8"
0 EA 4 EA 3020700 XXX MACHINE BOLT 1/2" X 7" HDG
0 EA 6 EA 3031000 XXX MACHINE BOLT 5/8" X 10 HDG
0 EA 2 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
0 EA 2 EA 3031600 XXX MACHINE BOLT 5/8" X 16 HDG
0 EA 2 EA 3042600 XXX MACHINE BOLT 3/4" X 26 HDG
0 EA 6 EA 3092600 XXX BOLT DA 26" X 3/4" HDG
0 EA 6 EA 3232000 XXX EYENUT 3/4"
0 EA 4 EA 3280800 XXX ROUND WASHER 1/2"
0 EA 14 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
0 EA 4 EA 3294000 XXX SQ FLAT WASHER 3" X 13/16"
0 EA 24 EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"
0 EA 4 EA 3330800 XXX DBL COIL 1/2" LOCK WASHER
0 EA 14 EA 3330900 XXX DBL COIL 5/8" LOCK WASHER
0 EA 26 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER
0 EA 1 EA 4010700 (NOT USED) VICTOR GLASS
0 EA 3 EA 4011500 PINTYPE INSULATOR 15KV
0 EA 30 EA 4021000 SUSPENSION INSULATOR 10" 20K
0 EA 4 EA 4500100 XXX CROSSARM PIN
0 EA 9 EA 4952500 XXX SOCKET EYE
0 EA 6 EA 4953500 XXX BALL HOOK
0 FT 4 FT 5080700 XXX 2 CU SD 7-STRAND

Page 18 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles

0 FT 36 FT 5451000 1/0 ACSR 6/1

0 EA 3 EA 5951000 XXX ARMOR ROD 1/0 ACSR

0 EA 1 EA 5953000 XXX ARMOR ROD 556.5 AAC

0 EA 1 EA 6280700 XXX WR159 #2 - #6

0 EA 1 EA 6300800 USE STOCK #63001

0 EA 6 EA 6431000 USE STOCK #65307

0 EA 3 EA 6482600 XXX ALLOY TIE 556 AAC

0 EA 3 EA 6551000 1/0 ACSR SUSPENSION CLAMP

Page 19 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007108461 STAKE: 12
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
0 EA 1 EA 1025000 POLE 50° CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25")
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"

Page 20 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.0. #  12-0112
DATE PRINTED:  6/5/2017 TIME PRINTED: 11:28 AM USER:  CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007108460 STAKE: 13
PICK ISSUED REMOVE SALVAGE
QTY Units  QTY QTY  Units QTY  PARTNO DESCRIPTION
0 EA 1 EA 1025000 POLE 50° CEDAR CLASS 3
0 EA 1 EA 1030000 XXX POLE WRAP (20" x 25°)
0 EA 1 EA 1032000 XXX OSMOSE POLE TOPPER 19"
0 EA 2 EA 1051000 (NOT USED) CROSSARM HEAVY 10°
0 EA 2 EA 1072200 CROSSARM 22X 5-3/4" X 7-3/4"
0 EA 2 EA 1306000 BRACE 60" DROP ANGLE
0 EA 4 EA 1702000 XXX XARM REINFORCING PLATE 8"
0 FT 260 FT 2050700 XXX GUYWIRE 18M
0 EA 8 EA 2101000 XXX GUY GRIP 18M
0 EA 4 EA 2701000 XXX GUY HOOK
0 EA 4 EA 3020700 XXX MACHINE BOLT 1/2" X 7" HDG
0 EA 6 EA 3031000 XXX MACHINE BOLT 5/8" X 10 HDG
0 EA 1 EA 3031200 XXX MACHINE BOLT 5/8" X 12 HDG
0 EA 1 EA 3031600 XXX MACHINE BOLT 5/8" X 16 HDG
0 EA 4 EA 3041400 XXX MACHINE BOLT 3/4" X 14 HDG
0 EA 1 EA 3042200 XXX MACHINE BOLT 3/4" X 22 HDG
0 EA 2 EA 3042600 XXX MACHINE BOLT 3/4" X 26 HDG
0 EA 2 EA 3092200 XXX BOLT DA 22" X 3/4" HDG
0 EA 6 EA 3092600 XXX BOLT DA 26" X 3/4" HDG
0 EA 4 EA 3201500 XXX LAG SCREW 4" X 1/2"
0 EA 4 EA 3221200 XXX PALNUT 3/4"
0 EA 6 EA 3232000 XXX EYENUT 3/4"
0 EA 4 EA 3280800 XXX ROUND WASHER 1/2"
0 EA 13 EA 3292000 XXX SQ FLAT WASHER 2-1/4"
0 EA 10 EA 3294000 XXX SQ FLAT WASHER 3" X 13/16"
0 EA 24  EA 3296000 XXX SQ FLAT WASHER 4" X 13/16"
0 EA 4 EA 3303900 XXX SQ CURV WASHER 3" X 13/16"
0 EA 4 EA 3330800 XXX DBL COIL 1/2" LOCK WASHER

Page 21 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O. #:  12-0112

DATE PRINTED:
CUST NAME:
DESCRIPTION:
WAREHOUSE:

0

o O O O o o o o o

EA
EA
EA
EA
EA
EA
EA
EA
FT
EA

6/5/2017

ELWHA RIVER RD

TIME PRINTED: 11:28 AM USER: CanMap

REN REPL ELWHA CROSSING TRANSMISSION POLES

Port Angeles

15 EA
31 EA
6 EA
30 EA
1 EA
1 EA
6 EA
6 EA
48 FT
4 EA

3330900
3331000
4011500
4021000
4025000
4025200
4500100
4953500
5430500
5953000

XXX DBL COIL 5/8" LOCK WASHER
XXX DBL COIL 3/4" LOCK WASHER
PINTYPE INSULATOR 15KV
SUSPENSION INSULATOR 10" 20K
XXX POLY SPOOL INSULATOR 52-3
XXX SPOOL INSULATOR CLEVIS
XXX CROSSARM PIN

XXX BALL HOOK

XXX 4 SOL AL TIE WIRE

XXX ARMOR ROD 556.5 AAC

Page 22 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461

WORK ORDER PICKING LIST BY LOCATION W.O.#: 12-0112
DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD
DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES
WAREHOUSE: Port Angeles
LOCATION: 3007111400 STAKE: 14
PICK ISSUED REMOVE SALVAGE
QTY Units QTY QTY Units QTY PART NO DESCRIPTION
42 FT 42 FT 2050500 XXX GUYWIRE 10M
4 EA 4 EA 2100500 XXX GUY GRIP 10M
1 EA 1 EA 2290100 SINGLE HELIX ANCHOR (SIZE__ )
1 EA 1 EA 2420100 XXX TRIPLEYE NUT 1"
0 EA 1 EA 2482500 (NOT USED) ROD 7" X 3/4"
1 EA 0 EA 2485500 XXX ANCHOR ROD 7° X 1"
1 EA 1 EA 2559900 XXX JOHNNY BALL, CLASS 54-3
1 EA 1 EA 2701000 XXX GUY HOOK
1 EA 1 EA 2760100 XXX GUY GUARD 8" YELLOW POLY
1 EA 0 EA 3041200 XXX MACHINE BOLT 3/4" X 12 HDG
0 EA 1 EA 3041400 XXX MACHINE BOLT 3/4" X 14 HDG
1 EA 1 EA 3201500 XXX LAG SCREW 4" X 1/2"
1 EA 1 EA 3303900 XXX SQ CURV WASHER 3" X 13/16"
1 EA 0 EA 3331000 XXX DBL COIL 3/4" LOCK WASHER

Page 23 of 24



PUBLIC UTILITY DISTRICT NO. 1 OF CLALLAM COUNTY EST.#: 0138461
WORK ORDER PICKING LIST BY LOCATION W.O. #:  12-0112

DATE PRINTED: 6/5/2017 TIME PRINTED: 11:28 AM USER: CanMap
CUST NAME: ELWHA RIVER RD

DESCRIPTION: REN REPL ELWHA CROSSING TRANSMISSION POLES

WAREHOUSE: Port Angeles

Page 24 of 24



